Kuta Software - Infinite Algebra 2 Name

Compound Inequalities Date Period
Solve each compound inequality and graph its solution.

1 I<-3o0r-4n<-8 k k

yn+ or =< 2)—210r§£—1

-7 -6 -5 4 -3 2 -1 0 1 2 3 4 5 6

-8-7-6-5-4-3-2-101 2 3 45 6 7

3) 2<2x<6 4) 6<x+6<11

-1 0 1 2 3 4 5 6 7 8 9 10 11
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5 -3<m-5<-1 6) p+4<lorp-12>1
s 4 5 2 1o 125 4 6 S S 4o 1245 6
7) =33<-Tn-12<-26 8) 9+2b<70r7-5b<-8
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-4 3 -2 -1 0 1 2 3 4 5 6 7 8

-5 4 -3 2 -1 0 1 2 3 4 5 6 7

9) 9-12r>-99and -2r—-4 <-12 10) 12+4n>440r 10— 12n>-38

>

o 1 2 3 4 5 6 7 8 9 10 11 12 o 1 2 3 4 5 6 7 8 9 10 11 12



11) -Sbh-8<-680r 11b-12 <-100 12) 36 <11 -5x<66

T2 s a0 4 & 1 e P
13) -10-2v<6and 6v+ 12 < -6 14) 2x -3 <11 or—-8x—10<—82
D T T T R EEEEEEEE TR
15) 4b+18<-12b-14<14-5b 16) 4a+8>1la+15and 13 - 14a<13 -3a
T T R R N I R
17) 8p—13<-2+7pand20+4p<2p+ 14 18) 5v+10<—4v—17<9—2v
—iO:—:S:—I6:—:4:—:2:(:):é —14:—12:—i0:—I8I—I6I—I4I—I2
19) 14r+20<14r+160r8 —10r > 15-9r 20) X+ 18>8x+4o0r15x—15<15x+5
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Compound Inequalities Date

Solve each compound inequality and graph its solution.

1) n+1<-30r—4n<-8 k k

2) —>1lor—<-1

<  —t—— > 4 3

-7 -6 -5 -4-3-2-101 2 3 4 5 6

n<-4orn>2 T 87-6-5-4-3-2-10 1 2 3" 56 7

k>4o0rk<-3

3) 2<2x<6 4) 6<x+6<11

-+ > — C——t—t—t—t—+>
o 1 2 3 4 5 6 7 8 9 10 11 12 -1 0 1 2 3 4 5 6 7 8 9 10 11
l<x<3 0<x<5

5 -3<m-5<-1 6) p+4<lorp-12>1
t t t t t t t —+ +—t t < C—— >
-6 -5 4 3 2 -1 0 1 2 3 4 5 6 -7 -6 -5-4-3-2-101 2 3 4 5 6 7
2<m<4 p<-3orp=2

7) -33<-Tn-12<-26 8) 9+2b<70r7-5b<-8
M S S ‘—541—3—2:‘{11\(:]1I2:?4567’
2<n<3 b<-lorb>3

9) 9-12r>-99and -2r—-4 <-12 10) 12+4n>440r 10— 12n>-38
——t—tF ——t < —— >
o 1 2 3 4 5 6 7 8 9 10 11 12 o 1 2 3 4 5 6 7 8 9 10 11 12
4<r<9 n>8orn<4

Period



11) -Sbh-8<-680r 11b-12 <-100 12) 36 <11 -5x<66

vl Var¥ I

€ +——t > < + — L — + >
-12 -8 —4 0 4 8 12 16 -14 -12 -10 -8 -6 -4 -2
b>12o0rb<-8 —11<x<-5
13) -10-2v<6and 6v+ 12 < -6 14) 2x -3 <11 or—-8x—10<—82
DN SaSR e T MESPEFEr I SN SETEE VT
-8 <v<-3 X<70rx>9
15) 4b+18<-12b-14<14-5b 16) 4a+8>1la+15and 13 - 14a<13 -3a
. . . —_—— +—t—
-10 -8 -6 —4 -2 0 -5 4 3 2 -1 0 1 2 3 4 5 6 7
-4<b<-2 No solution.
17) 8p—-13<-2+7pand20+4p<2p+ 14 18) Sv+10<—4v—-17<9-2v
€ +—t t t t > -« L ——t
-10 -8 -6 -4 -2 0 2 -14  -12 =10 -8 -6 -4 -2
p<-3 —-13<v<3
19) 14r+20<14r+160r8 —10r > 15-9r 20) X+ 18>8x+4o0r15x—15<15x+5
€ o— t —t—t € >
-12 -10 -8 -6 -4 -2 0 8-7-6-5-4-3-2-101 2 3 45 6 7 8
r<-7 { All real numbers. }
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